@ DEVICE HS_OSC


'ADCON1=7


'CMCON=0








define OSC 20


' Set-Up two channel HPWM


DEFINE CCP1_REG PORTC


DEFINE CCP1_BIT 2


DEFINE CCP2_REG PORTC


DEFINE CCP2_BIT 1


 ' Define LCD registers and bits               


DEFINE  OSC 20


Define	LCD_DREG	PORTD


Define	LCD_DBIT	4


Define	LCD_RSREG	PORTD


Define	LCD_RSBIT	2


Define	LCD_EREG	PORTE


Define	LCD_EBIT	1


define  LCD_RWREG   PORTD


define  LCD_RWBIT   3





' Define ADCIN parameters


Define	ADC_BITS	   8 	' Set number of bits in result


Define	ADC_CLOCK	   3	' Set clock source (3=rc)


Define	ADC_SAMPLEUS  50	' Set sampling time in uS





 ' Define Variables


adval0	var	word		    ' Create adval0 to store result


adval1  var word


duty0   var word


duty1   var word   


freq    var word


rcin    var word


rcin2   var word





'****************************************************************


'Set up (2) Channel Analog input


   TRISB=%00000001


   TRISD=0


   TRISE=0


   TRISA =255	        ' Set PORTA to all inputs


   ADCON1 =0            'Set PORTA analog and left justify result


   PORTE.2=0


   PORTD.3=0		    ' LCD R/W line low (W)


   Pause 500		    ' Wait .5 second


   LCDOUT 254,1


   PAUSE 500


   portb.5=0


   portb.4=0


'******************************************************************


goto loop2


LOOP:


ADCIN 0, adval0		        ' Read channel 0 to adval


adcin 1, adval1


Lcdout $fe, 1		        ' Clear LCD


Lcdout DEC adval0," ",DEC adval1 	' Display the decimal value  





Pause 10		            ' Wait .01 second





IF adval0>127 then 


    portb.4=0:portb.5=1:goto FWD


else


portb.4=1:portb.5=0:goto BACK


endif





FWD:


DUTY0=(adval0-127)*2


goto genpwm





BACK:


duty0=2*(127-adval0)


goto genpwm





genpwm:


HPWM 1,duty0,2000


HPWM 2,duty0,2000





GOTO LOOP


'END
























































loop2:      


pulsin portb.0,1,rcin


rcin2=((rcin-536)*10)/17





if (rcin2<1) or (rcin2>300) then rcin2=0:goto loop2


if rcin2>127 then


    portb.4=0:portb.5=1:goto fwd2


else


    portb.4=1:portb.5=0:goto back2


endif





fwd2:


duty0=(rcin2-127)*2


if duty0>260 then duty0=0


goto genpwm2





back2:


duty0=2*(127-rcin2)


if duty0>260 then duty0=0


goto genpwm2





genpwm2:


'if (duty0>260) then duty0=0


'endif


hpwm 1,duty0,2000


lcdout $fe,1


lcdout dec rcin," ",dec rcin2," ",dec duty0


goto loop2


end


